

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM

| \bigcap | R | | G | N | Δ | |
|-----------|-----|---|---|---|----------|---|
| | i \ | I | | V | \vdash | L |

| WELL HISTO | ORIGINA! |
|--|--|
| Operator: License # 33036 | API No. 15 - 081-21617-00-00 |
| Name: Strata Exploration, Inc. | County, Haskell |
| Address: PO Box 401 | AP SE SW Sec. 22 Twp. 29 S. R. 32 East West |
| City/State/Zip: Fairfield, IL 62837 | 330 feet from S / N (circle one) Line of Section |
| Purchaser: Oneok/Plains | |
| Operator Contact Person: John R. Kinney | Footages Calculated from Nearest Outside Section Corner: |
| Phone: (618) 897-2799 | (circle one) NE SE NW SW |
| Contractor: Name: Sterling Drilling | |
| License: 5142 | Lockport |
| Wellsite Geologist: Jon Christensen | Producing Formation: Morrow |
| Designate Type of Completion: | Elevation: Ground: 2908 Kelly Bushing: 2919 |
| New Well Re-Entry Workover | Total Depth: 5650 Plug Back Total Depth: |
| ✓ Oil —— SWD —— SIOW —— Temp. | 4000 |
| ✓ Gas ENHR SIGW | Multiple Stage Cementing Collar Used? ✓ Yes No |
| Dry Other (Core, WSW, Expl., Cathodic, | 32/5 |
| If Workover/Re-entry: Old Well Info as follows: | If Alternate II completion, cement circulated from. |
| Operator: | · · · · · · · · · · · · · · · · · · · |
| Well Name: | |
| Original Comp. Date: Original Total Depth: _ | Drilling Fluid Management Plan ALT 1 WHW 3-7-01 |
| Deepening Re-perf Conv. to E | |
| Plug Back Plug Back Tota | |
| Commingled Docket No | Dewatering method doca |
| • | Location of fluid disposal if hauled offsite: |
| Dual Completion Docket No Other (SWD or Enhr.?) Docket No | Operator Name: |
| Other (SWD or Elini) Docker No. | Lease Name: DECidense 2005 |
| 9/13/2005 9/28/2005 10/18/20 Spud Date or Date Reached TD Completion | OS Quarter Sec. TWKCC WICHITA East West |
| | etion Date County: Docket No.: |
| | |
| Kansas 67202, within 120 days of the spud date, recon Information of side two of this form will be held confidentia 107 for confidentiality in excess of 12 months). One copy of TICKETS MUST BE ATTACHED. Submit CP-4 form with a | shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, inpletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If or a period of 12 months if requested in writing and submitted with the form (see rule 82-3-181) if all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING all plugged wells. Submit CP-111 form with all temporarily abandoned wells. |
| All requirements of the statutes, rules and regulations prom herein are complete and correct to the best of my knowledge | ulgated to regulate the oil and gas industry have been fully complied with and the statements e. |
| Signature: John K. Kinney | KCC Office Use ONLY |
| Title: President / Date: U | /2/22/2005 Letter of Confidentiality Received |
| Subscribed and sworn to before me this and ay of | ece wher . If Denied, Yes Date: |
| 20 <u>♥</u> ≤. | Wireline Log Received |
| 2003 | Geologist Report Received |
| Notary Public: OFFICIAL SEAL | UIC Distribution |
| Date Commission Expires: 11/30/2008 | |

Side Two

ORIGINAL

| Operator Name: St | rata Exploration, Inc. | , | Lease Nan | ne: Stoops Webb | er | _ Well #: 4 | | |
|--|---|---|--|-----------------------|--|--|---|--|
| | ²⁹ S. R. ³² | | County: Ha | askeli | | | | |
| tested, time tool op temperature, fluid r | en and closed, flowing ecovery, and flow rate | and base of formations og and shut-in pressure es if gas to surface test final geological well sit | es, whether shut-in t, along with final o | pressure reache | d static level, hydro | static pressu | ires, bottom hole | |
| Drill Stem Tests Tak | | ✓ Yes No | | Log Forma | ation (Top), Depth a | nd Datum | Sample | |
| Samples Sent to G | eological Survey | ✓ Yes | N | lame | | Тор | Datum | |
| Cores Taken Electric Log Run (Submit Copy) | | ☐ Yes ☑ No ☑ Yes ☐ No | *5 | See Geologic Rep | oort | | | |
| List All E. Logs Run | : | | | | | | | |
| | on, Microlog, C nic (Halliburton | omp. Den. Neut | tron & | | gelande gel de | allegar programmer pro | | |
| | | | G RECORD et-conductor, surface, | | ıction, etc. | | | |
| Purpose of String | Size Hole Drilled | Size Casing Set (In O.D.) | Weight Lbs. / Ft. | Setting Depth | Type of Cement | # Sacks Used | Type and Percent Additives | |
| Surface | 12 1/4 | 8 5/8 | 24 | 1828 | Lite | 600 | 3% CC 14 # Flo. | |
| Long String | 7 7/8 | 5 1/2 | 17 | 5650 | 50/50 poz | 300 | 3% CC 290 901 5% KC 5% Calseal 6 66/5 | |
| Port Collar | | | | 3345 | 60/40 902 Premium | 250 50 | 8% ge/ | |
| | | ADDITION | AL CEMENTING / S | SQUEEZE RECOF | 1 | | | |
| Purpose: | Depth Top Bottom | Type of Cement | #Sacks Used | d Recepted and itives | | | | |
| Protect Casing Plug Back TD | | | | | DEC 2 7 | 2005 | | |
| Plug Off Zone | | | | | KCC WI | CHITA | | |
| Shots Per Foot | | ON RECORD - Bridge PI Footage of Each Interval P | | | acture, Shot, Cement Amount and Kind of Mat | | rd Depth | |
| 3 SPF | Perf St. Louis C 56 | 08-12' | | Acidize w/ 7 | 50 gal 15% FE-MC | A | | |
| | Set CIBP @ 5600' | | | | | | | |
| 3 SPF | Perf St. Louis A 55 | 26-30' | | Acidized w/ 100 | 00 gal 7.5% FE-MCA, a | nd 1500 gal 15 | % FE-NE | |
| | Set CIBP @ 5500' | | | | | | | |
| 3 SPF | Perf Morrow @ 534 | 18-60' | | Acidized w/ | 1000 gal 15% FE-N | /CA | | |
| TUBING RECORD 2 7 | Size 7/8 | Set At 5447 | Packer At | Liner Run | Yes No | | | |
| 11 / 1 | مان مذ مسور | nhr. Producing Me | ethod Flow | ving 📝 Pump | ning Gas Lift | Oth | er <i>(Explain)</i> | |
| Estimated Production Per 24 Hours | - 1.62 | Bbls. Gas | Mcf W | /ater | Bbls. Ga | as-Oil Ratio | Gravity 31 | |
| Disposition of Gas | METHOD OF C | OMPLETION | | Production Inte | orval | | , 1, 1 | |
| Vented ✓ Sold | ✓ Used on Lease | Open Hole | | Dually Comp. | Commingled | Morro | N Daly | |



S100

FUEL SURCHARGE



SALES OFFICE: SALES & SERVICE OFFICE: 10244 NE Hiway 61 100 S. Main Suite #607 Wichita KS 67202 P.O. Box 8613

Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129

Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

(316) 262-3699

(316) 262-5799 FAX

| Bill to | | 900 Invoice 510067 | _ | oice Date 0/13/05 | Order 11641 | Order D 2 | |
|------------|--|--------------------|------------|----------------------|-----------------------|------------|----------|
| | Strata Exploration, Inc. | | | Service D | escription | 1 | |
| | P.O. Box 401 | | | Cen | nent | | |
| ļ | Fairfield, IL 62837-0401 | | Lease | | Well | Well 1 | Гуре |
| | | Sto | oops We | bber | 4 | New V | Well |
| | | | AFE | | Purchase | | |
| | | | | | | Net : | 30 |
| | CustomerRep | | | Tre | ater | | |
| | G. Payne | | | A. W | erth/ | | |
| <u>ID.</u> | <u>Description</u> | | <u>UOM</u> | Quantity | Unit Price | Price | <u>e</u> |
| D103 | 60/40 POZ (PREMIUM) | | SK | 250 | \$9.82 | \$2,455.00 | (T) |
| D100 | PREMIUM/COMMON | | SK | 50 | \$14.00 | \$700.00 | (T) |
| C320 | CEMENT GELL | | LB | 1428 | \$0.25 | \$357.00 | (T) |
| E100 | HEAVY VEHICLE MILEAGE - 1 WAY | | MI | 80 | \$4.00 | \$320.00 | |
| E107 | CEMENT SERVICE CHARGE | | SK | 300 | \$1.50 | \$450.00 | ! |
| E104 | PROPPANT / BULK DELIV SERVICES/TON M | IILE, \$200 MIN | TM | 560 | \$1.60 | \$896.00 | |
| R207 | CASING CEMENT PUMPER, 3001-3500' 1ST 4 | HRS ON LOC | EA | 1 | \$1,596.00 | \$1,596.00 | |
| E101 | CAR, PICKUP OR VAN MILEAGE - 1 WAY | | MI | 40 | \$2.50 | \$100.00 | ļ |

Sub Total:

\$76.21

\$6,950.21

\$76.21

Discount:

\$777.40

Discount Sub Total:

1

\$6,172.81

Haskell County & State Tax Rate: 5.80%

Taxes:

\$180.91

(T) Taxable Item

Total:

\$6,353.72

RECEIVED DEC 2 7 2005 KCC WICHITA

| RYSKE NO. Discount D Discount D Start A Exploration C Start A Exploration Start A Exploration | | | | | | | | | | | |
|--|--------------|-----------------|-----------------|------------------|-------------|---------------|--|--|---------------------------------------|---|----------------|
| AFENDER PONUMBER PONUMBER | Ź JE | | | INVOICE NO. | | Subie | ed to Correction | | FIEL | D ORDER | 11641 |
| Country Haskell Results State | | | | | | .0980 | | | | | 200-22 |
| STRATA Explaintion 330 PK Caing Ca | SER | VICES. | | | | county 🛴 🌯 | | 26 | State | | 115 - 32 W |
| Controlled Representation PO Number AFE Humber Product Ond OUANTITY MATERIAL EQUIPMENT and SERVICES USED UNIT PRICE ACCOUNTING OND | | | | . a k · · · | 0 | epth | Formati | | · · · · · · · · · · · · · · · · · · · | Shoe Joint | era L KS |
| AFE Namber PO Namber Meterials Representative Affection Affection Representative Affection Outstrand Code October Affection October Affection October Affection Affect | п | TIAIA | <u>C. 4 p10</u> | PAFICA | c | esing | Casing Dept | h i | | Job Type | <i>1</i> / 0 : |
| AFE Number PONUmber Received by X Product QUANTITY MATERIAL EQUIPMENT and SERVICES USED UNIT PROCE AMOUNT CORRECTION AMOUNT D103 250 5K 60/40 607 D100 So SK Press / Comment C 320 12 3H court See E100 80 in i deavey which clemil-way E107 300 7K court Service also E104 500 the Bulk Del. Che per termin R207 1-ea csq cont fumics 3001-3500 E101 40 mi Pickup mi. 1-way RECEIVED RECEIVED RECEIVED RECEIVED RECEIVED RECEIVED RECEIVED | R ——— G | | | · | - c | ustomer Repre | sentative / | <u>β.ζ.</u> | | er / | /2 P. C. |
| Product Code CUANTITY MATERIAL EQUIPMENT and SERVICES USED UNIT PRICE AMOUNT CORRECTION MACHINITY D103 250 SK Prem / Commun — C 320 142 8th comf 6el E100 80 mi (learly 1/2 hiclemic way E(07 300 th cont scruics chas. 2104 500 th Bulk Nel. Chas per townin. R207 18A CSS cant Pumper 3001-3500 E101 40 mi Pickup mi 1-WAY. D15 Counted Price RECEIVED DEC 27 2005 KCC WICHITA | Ε | | | | | Geor | ge PA | yue | | Allen F | Werth |
| Cold OLASTITY MATERIAL EQUIMENT and SERVICES USED UNIT PRICE AMOUNT D103 250 5 100/40 POT D100 So SK Prem / Commun C 320 142 4th cmt Get E100 80 mi Heavy Web. Clemi (- way E107 300 ft and Service also E104 500 the Bulk Del, Chapter team. R 207 1ea css cat fumper 3001-3300 E104 40 mi Pickup mi 1-way Plus taxes RECEIVED BEC 27 2005 KCC WICHITA | AFE Number | | PO Nu | mber | | | x | D | 3 | | |
| DIOO SOSK Prem / Comment C 320 1424/h cmf Gel E100 80mi Heavy Webiclemil-way E107 300 ft cunt Service chg. \$104 550 tm Bell K Del. Chg per town. R207 1ea csq cat Pumper 3001-3500 E101 40mi Pickup mi 1-way. Discounted Price - Plas texts RECEIVED DEC 27 2005 KCC WICHITA | | QUANTITY | MATE | RIAL, EQUIPMENT | and SERVI | CES USED | UNIT PRICE | AK | OUNT | CORRECTION | |
| C 320 1428th cmf Gel E100 80mi Klency Whiclemit way E107 300 th cmt Service chs. E104 560th Bulk Del. Chapter town. R207 14a css ent fumber 3001-3500 E101 40mi Pickup mi 1-WAY. OISCOUNTED PICKUP MI 1-WAY. Plas toxes RECEIVED DEC 27 2005 KCC WICHITA | 0103 | 250 sx | 60/ | 40807 | | | | | | | |
| Ascounted Plice RECEIVED BEC 27 2005 RECEIVED BEC 27 2005 BEC 27 2005 BEC 27 2005 EIO1 40mi liency vehiclemit-way EIO7 300 fc cmt scruics chg. EIO1 40mi Bulk Del. Chg pr termi. R207 1ea css cmt fumper 3001-3500 EIO1 40mi Pickup mi. 1-WAY. DISCOUNTED PLICE Plus toxes RECEIVED BEC 27 2005 KCC WICHITA | D100 | Sosk | Prem | 1 Commo | n/ | | | | | | |
| 100 300 th comt service chq. 104 560 th Bulk Oel, chq per terrini R207 1-ea csq cart fumper 3001-3500 E101 40 mi Pickup mi 1-WAY. Alscounted Plics Plus toxes RECEIVED DEC 27 2005 KCC WICHITA | C370 | 1428/6 | cmf | GeL | | | | | | | |
| 1 Scounted Price Competed Competed Price Competed Comp | E100 | 80mi | iden | uy vehi | clemi | 1-WAY | , | <u> </u> | | | |
| R207 INA CSS CAT PLANGE 3001-3500 E101 40mi Pickup mi I-WAY. OISCOUNTED PICE PARTY 6096.60 RECEIVED DEC 27 2005 KCC WICHITA | £107 | 300-1 | cmt | Servic | e chg | | | | | | |
| Alscounted Plice Plas texas RECEIVED DEC 27 2005 KCC WICHITA | | 560 tm | Bulk | Del cl | 19 per | town: | | <u> </u> | | | |
| DISCOUNTED PICS CONFIDENT 6.096.60 RECEIVED DEC 27 2005 KCC WICHITA | | | CS9 C | east Pum | per 30 | 201-3500 | <i>!</i> | | | | ļ |
| Discounted Price 2 CONFIDENT & 6096.60 RECEIVED DEC 27 2005 KCC WICHITA | E101 | 40 mi | Pick | up. mi | 1-10 | My. | | <u> </u> | | | |
| Discounted Price 2 CONFIDENT & 6096.60 RECEIVED DEC 27 2005 KCC WICHITA | | | | | | | | <u> </u> | | | |
| Discounted Price 2 CONFIDENT & 6096.60 RECEIVED DEC 27 2005 KCC WICHITA | | • | | • | | | <u> </u> | | | | |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | | | | · | | | | · · · · · · · · · · · · · · · · · · · | |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | | | | | | | | | |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | | ······· | | | | - | | | <u> </u> |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | | | | | | | | | |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | | *** | | | | | | | |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | | | | **** | | | | | |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | | | | | | | | | |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | 01 | Scounte | ed P | rica | | MANE | Incrit | Al | |
| RECEIVED DEC 2.7 2005 KCC WICHITA | | | <u> </u> | us tox | <u> ح</u> ح | | <i>a</i> | | | ins ins | 6096.60 |
| DEC 2 7 2005 KCC WICHITA | | | | | | | · | | | | |
| DEC 2 7 2005 KCC WICHITA | | | | | | | | R | ECEN/ | ED | |
| KCC WICHITA | | | | | | | | 1 | 1 | | |
| | | | | | | | | | | | |
| | | | | | | | | 1 8 | 7 T T T T T T | 0 00 00 0 | |
| | | | | | | | | | | | |
| | | | | | <u> </u> | | - / · · · · · · · · · · · · · · · · · · | | | | |
| | | | | | | | | ; | | | |
| | 10244 NE Hiv | vay 61 · P.O. I | 3ox 8613 | · Pratt, KS 6712 | 24-8613 · | Phone (620 | | ax (620) 6 | 72-5383 | TOTAL | |

TREATMENT REPORT

| ां स्थि | • | | | | | | | | | | | (El Olt | | |
|------------------|-------------------|------------------------|---------------------------------------|---------|----------|--------------|---------------------------------------|---------------------------------------|--|---------|--------------|--|-----------------|-------------|
| | | | | | | Customer | ID . | | | Date | • | | | |
| | | | | | | Customer | Ato E | eplozati | למים | | 10 | 5-05 | | |
| SER | V C E | 5 L | L C | | | Leese | -00PS | weber Depti | | Leas | ie No. | | Well # | |
| Field Order # | S | tation L | heca | LK | | <u> </u> | Casing | Depti | h | Cou | MAS | kell | | State |
| Type Job Port | | c l | 4 | | . | | | Formation | Jew 1 | | | Legal Descr | iption 295 - | |
| | E DATA | | | RFORA | TING | DATA | F | LUID USED | | | | REATMEN | | |
| Cesing Size | | ng Size | Shots/F | -t | <u> </u> | ماء مس | Acid | 0.5.55 | D/ 1 | | RATE | PRESS | ISIP | |
| Depth Depth | Dep | H. | | | | COSIC | Pre Pad | s Poz 85 | 10 G. g.L. | Max 6 | <u> </u> | 7.6 79 | 5 Min. | |
| Volume | Volu | | From | | To | <u>505</u> | Pad | Ain | 1 % 8 | Min | gal | | 10 Min. | |
| Max Press | / Max | 1 Press 500 | From | | То | | Frec | · · · · · · · · · · · · · · · · · · · | | Avg | | | 15 Min. | |
| Well Connecti | | <u>500</u> Jus Vol. | From | | То | | 1 | | | HHP Us | ed | | Annulus P | ressure |
| Plug Depth | Paci | er Depth | From | | То | | Flush | 1 | | Ges Vol | lume | 1 | Total Load | 1 |
| Customer Rep | | | From | | To | itation Mans | Fres | hwate | · <u></u> | To | eater . | | _ | 1.6 |
| | တက္ခ | | ve_ | I | ` | Je | ry B | enneH | | | All | en t | Wer | 144 |
| Service Units | • | | -att | 125 | | 228 | 33.5 | 575 | <u>l</u> | | | | | |
| Time | Casing Pressur | _ | ressure | Bbis. I | Pumped | | Rate | <u> </u> | | | | ce Log | | |
| 1720 | | | | | | | | on ho | 1 C, S. | et u | P+8 | YAN JO | ,5 | NPC! |
| | | 1/3 | 500 | | | | | Test | to, | 150 | 01 | o K | ορν | NPC. |
| | | | -00 H | | 3 | | 2 | TAKE | 101 | RAte | <u>.</u> 2. | BPM | 050 | o #L |
| 1800 | | | | | | | | Stimi | | | | | | |
| | 1 | | | 6 | 4,3 | | • | Fin v | | | | | | |
| | | | | - | | | 2 | | | sKs | STA | Nolard | 1. | |
| 1830 | | | | 10 | 2.5 | / | · · · · · · · · · · · · · · · · · · · | Fin | | | - | | | |
| 1831 | | | | | | | · <i>2</i> | S+. D. | SP. | | | | | |
| 1840 | | | | 1 | 9 | | | Fin | | | | | | ok |
| | | 1 | 800 | | | | | | | | ilar | test | to 19 | 100 PS1 |
| | | | | - | | | | | | | | Clemi | | |
| 1900 | 1000 | # 10 | Ð | 4 | <u> </u> | | 4 | Pum | 2 4 | OB | Bls | Shor | twas | |
| 7 700 | 1 000 | | · · · · · · · · · · · · · · · · · · · | | - | | | Clear | <u>س</u> ــــــــــــــــــــــــــــــــــــ | | | | 7 | |
| | | | | | | | | wash | . 40 | Sou | <i>i 0</i> . | PARI | CINCLIP | O A E |
| | | | | | | | - | WASh RACK Job | 1.0. | 0 | 7 | GUIN | I IVLIA | Burn Park |
| 1940 | | | | | | | | TOL | como | 101 | e . | | | |
| 1110 | | | | | | | - | 7,00 | ~~ 1 ~ 1 / 1 | 1 \s1 | | RECE | VED | |
| | <u></u> | | | | | | | | | | | DEC 27 | 2005 | |
| | | - | | | | | | | | | H | (CC WI | CHITA | |
| | | | | | | | | , | | ** | <u>'</u> | | | |
| | | \dashv | | | | | | Lhn | 016 | . / | 11/e) | v + c | rew | |
| 1024 | 14 NE 1 | liway | 61 • P. | O. Box | 861 | 3 • Prat | t, KS 671 | 24-8613 • | | | | | | -5383 |

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 098494

Invoice Date: 09/22/05

Sold Strata Exploration, Inc.

To: P. O. Box 401 Fairfield, IL 62837-0401



P.O. Number..: StoopsWeber #4

P.O. Date...: 09/22/05

Cust I.D....: Strata

Due Date.: 10/22/05 Terms...: Net 30

| Item I.D./Desc. | Qty. Used | Unit | Price | Net | TX |
|-----------------|-------------|------|-----------|---------|---------|
| Common | 150.00 | SKS | 10.0000 | 1500.00 | Т |
| Chloride | 25.00 | SKS | 38.0000 | 950.00 | T |
| Lite | 600.00 | SKS | 9.3000 | 5580.00 | ${f T}$ |
| FloSeal | 150.00 | LBS | 1.7000 | 255.00 | ${f T}$ |
| Handling | 806.00 | SKS | 1.6000 | 1289.60 | E |
| Mileage | 35.00 | MILE | 48.3600 | 1692.60 | E |
| 806 sks @.06 pe | r sk per mi | | | | |
| Surface | 1.00 | JOB | 1320.0000 | 1320.00 | E |
| Mileage pmp trk | 35.00 | MILE | 5.0000 | 175.00 | E |
| AFU Insert | 1.00 | EACH | 325.0000 | 325.00 | ${f T}$ |
| Centralizers | 5.00 | EACH | 55.0000 | 275.00 | ${f T}$ |
| Basket | 1.00 | EACH | 180.0000 | 180.00 | ${f T}$ |
| Rubber Plug | 1.00 | EACH | 100.0000 | 100.00 | ${f T}$ |
| | | | | | |

| All Prices Are Net, Payable 30 Days Following | Subtotal: | 13642.20 |
|--|-----------|-----------|
| Date of Invoice. 1 1/2% Charged Thereafter. | Tax: | 531.57 |
| If Account CURRENT take Discount of \$ /364.22 | Payments: | 0.00 |
| ONLY if paid within 30 days from Invoice Date | Total: | 14173.77 |
| | | (1364.22) |
| | | 12 809.55 |

RECEIVED DEC 27 2005 **KCC WICHITA**

ALLIED CEMENTING CO., INC. 21862

| EMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 | CONFIDENCE POINT: |
|--|---|
| 9-15-05 SEC. TWP. RANGE C | ALLED OUT ON LOCATION JOB START JOB FINISH |
| STOOPS LEASE Weber WELL# 4 LOCATION Subject | TE 3NE YN YE GASKELL KS |
| OLD OR NEW (Circle one) | NS |
| CONTRACTOR STEPLING Drlg | OWNER Same |
| TYPE OF JOB Surface HOLE SIZE 1214 T.D. 1830' | CEMENT |
| CASING SIZE 878 DEPTH 1828, 58 | AMOUNT ORDERED 150 sks com 3 %cc |
| TUBING SIZE DEPTH | 600 sks Lite 32 CC YyA Plo Seal |
| DRILL PIPE DEPTH | |
| TOOL DEPTH | |
| PRES. MAX MINIMUM | COMMON 150 sks @ 10,00 1500.00 |
| MEAS. LINE SHOE JOINT 45,65" | POZMIX@ |
| CEMENT LEFT IN CSG. 45.65 PERFS. | GEL @ |
| DISPLACEMENT //3 /2 Bb/s | CHLORIDE <u>25 s.ks</u> @ 38100 950.00 |
| EQUIPMENT | ASC@ |
| | 170 Seal 150 9 @ 4-20 255.00 |
| PUMPTRUCK CEMENTER Dean | 170 5 ea/ 150 9 @ 1,70 255,00 |
| # 373-281 HELPER Andrew | |
| BULK TRUCK | @ |
| # 386 DRIVER MIKE | @ |
| BULK TRUCK RS 3 302 DRIVER Jewy | @ |
| #83 109 DRIVER Jerry | HANDLING 806 sks @ 1.60 1289.60 |
| | MILEAGE 69 /SK/MILE /692.60 |
| REMARKS: | TOTAL //26220 |
| Circulated 25 5Ks Cement 70 Pil, | • |
| | SERVICE |
| Plus Landed | |
| Plug Landed. | DEPTH OF JOB |
| Plug Landed. Plant Held. | DEPTH OF JOBPUMP TRUCK CHARGE |
| Plug Landed. Plant Held. | DEPTH OF JOB |
| Plug Landed. Plant Held. Thank You. | DEPTH OF JOBPUMP TRUCK CHARGE |
| Plug Landed. Plant Held. Thank you. | DEPTH OF JOB |
| Plant Held. Thank you, | DEPTH OF JOB |
| CHARGE TO: STr919 Exploration | DEPTH OF JOB |
| CHARGE TO: STr919 Exploration STREET | DEPTH OF JOB |
| CHARGE TO: STr919 Exploration | DEPTH OF JOB |
| CHARGE TO: STr919 Exploration STREET | DEPTH OF JOB |
| CHARGE TO: STr919 Exploration STREET | DEPTH OF JOB_ PUMP TRUCK CHARGE |
| CHARGE TO: STr919 Explor97:09 STREET | DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE MILEAGE BECEIVED OBEC 27 2005 COTAL TOTAL 1493.00 TOTAL 1493.00 TOTAL TOTAL |
| CHARGE TO: STrq1q Explorq1:09 STREET STATE ZIP To Allied Cementing Co., Inc. | DEPTH OF JOB |
| CHARGE TO: STrata Exploration STREET | DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE MILEAGE BECEIVED OBEC 27 2005 CCC WICHITA PLUG & FLOAT EQUIPMENT TOTAL 1495.00 325.00 5-Cen Trafizers OBEC 27 5.00 |
| CHARGE TO: STrata Exploration STREET | DEPTH OF JOB |
| CHARGE TO: STrq1q Poplorq1:0n STREET | DEPTH OF JOB PUMP TRUCK CHARGE |
| CHARGE TO: STrq1q Exploration STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or | DEPTH OF JOB |
| CHARGE TO: STrq1q Exploration STREET | DEPTH OF JOB PUMP TRUCK CHARGE |
| CHARGE TO: STrq1q Exploration STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or | DEPTH OF JOB PUMP TRUCK CHARGE |
| CHARGE TO: STrq1q Exploration STREET | DEPTH OF JOB |
| CHARGE TO: STrq1q Exploration STREET | DEPTH OF JOB |

73551

Longstring Cement

Allied Cementing Co., Inc P.O. Box 31

67665 Russell, KS

Invoice Number: 098714

Will Were the

Invoice Date: 09/30/05

pg 10/2

Sold Strata Exploration, Inc. To: P. O. Box 401

Fairfield, IL 62837-0401

Cust I.D....: Strata

P.O. Number..: Stoops&Weber#4

P.O. Date...: 09/30/05

Due Date.: 10/30/05 Terms....: Net 30

| <pre>Item I.D./Desc.</pre> | Qty. Used | Unit | Price | Net | ТX |
|----------------------------|-------------|------------|-----------|-----------|--------------|
| Common | 150.00 | SKS | 10.0000 | 1500.00 | Т |
| Pozmix | 150.00 | SKS | 4.7000 | 705.00 | Т |
| Gel | 5.00 | SKS | 14.0000 | 70.00 | \mathbf{T} |
| GypSeal | 25.00 | SKS | 19.1500 | 478.75 | Т |
| Pot. Chloride | 18.00 | SKS | 20.0000 | 360.00 | Т |
| Gilsonite | . 1800.00 | LBS | 0.6000 | 1080.00 | Т |
| FL-160 | 126.00 | LBS | 8.7000 | 1096.20 | Т |
| DeFoamer | 63.00 | LBS | 5.7500 | 362.25 | Т |
| WFR-2 | 500.00 | ${	t GAL}$ | 1.0000 | 500.00 | \mathbf{T} |
| Handling | 388.00 | SKS | 1.6000 | 620.80 | E |
| Mileage | 35.00 | MILE | 23.2800 | 814.80 | E |
| 388 sks @.06 pe | r sk per mi | | | | |
| Prod. String | 1.00 | JOB | 1610.0000 | 1610.00 | E |
| Mileage pmp trk | 35.00 | MILE | 5.0000 | 175.00 | E |
| Head Rental | 1.00 | PER | 75.0000 | 7500 | E |
| Port Collar | 1.00 | EACH | 1750.0000 | 1750.00 | T |
| Float Shoe | 1.00 | EACH | 263.0000 | 263.00 | T |
| Latch Down | 1.00 | EACH | 350.0000 | 350.00 | T |
| Rec. Scratchers | 2.00 | EACH | 35.0000 | 70.00 | T |
| Baskets | 2.00 | EACH | 140.0000 | 280.00 | Т |
| T. Centralizers | 8.00 | EACH | 60.0000 | 480.00 | Т |
| | | | | Continued | |

Subtotal:

12640.80

RECEIVED DEC 2 7 2005 **KCC WICHITA**

Alied Cementing Co., Inc. P.O. Box 31

Russell, KS 67665

Invoice Number: 098714

Invoice Date: 09/30/05

Sold Strata Exploration, Inc.

To: P. O. Box 401

Fairfield, IL 62837-0401

pg 292

RECEIVED

DEC 2 7 2005

KCC WICHITA

Cust I.D....: Strata

P.O. Number..: Stoops&Weber#4

P.O. Date...: 09/30/05

Due Date.: 10/30/05 Terms...: Net 30

item I.D./Desc. Qty. Used

Unit

Price

Net

TX

entralizers!

12.00

EACH

50.0000

600.00 T

ll Prices Are Net, Payable 30 Days Following ate of Invoice. 1 1/2% Charged Thereafter, f Account CURRENT take Discount of \$ /32408 NLY if paid within 30 days from Invoice Date

Subtotal: Tax...:

Payments:

Total...:

13240.80 576.82

0.00

13817.62

(1324.08)

12,493.54

ALLIED CEMENTING CO., INC. 19794

REMIT TO P.O. BOX 31 SERVICE POINT: RUSSELL, KANSAS 67665 OAKLY KS 9-28.05 SEC. TWP. RANGE CALLED OUT ON LOCATION JOB START JOB FINISH DATE 32w 11:00 Am 2:30pm 5:30pm 11,000 PW OLD OR NEW Circle one) RECEIVED **CONTRACTOR OWNER** TYPE OF JOB Production DEC 2 7 2005 7718 **CEMENT** CASING SIZE 5 1/2 KCC WICHITA AMOUNT ORDERED 300 **DEPTH** <u> 5653</u> **TUBING SIZE DEPTH** potassium Chloride, 5% DRILL PIPE **DEPTH** 1/205 1% TL-160, TOOL 500gAls PRES. MAX **MINIMUM** 50 MEAS. LINE **POZMIX** @ 4 CEMENT LEFT IN CSG. Port CollAR **CHLORIDE** DISPLACEMENT 255K@ **EQUIPMENT** Ison, de 1800 # @ **PUMP TRUCK CEMENTER** 1.160 @ <u>#373.281</u> HELPER 63^{*} @ Defoamer **BULK TRUCK** # 357 500 SA _ @ **DRIVER BULK TRUCK** DRIVER @ MILEAGE . OG Y SK x mile 814 **REMARKS:** TOTAL _7587 Pump SOO COL WIRIT **SERVICE DEPTH OF JOB** 5653 PUMP TRUCK CHARGE chdow N EXTRA FOOTAGE d-max 1,8+ 1100 be; @ 500 MILEAGE _ complete @ Lnide 1700 PMANIFOLD. Head Rendal STREET CITY___ _STATE _ ZIP PLUG & FLOAT EQUIPMENT Port CollAR - Audo. P:11 Sloat shore LAtchdown Plus Assya recip scintchers@ 3500 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment @ 140 __@_ and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was (entralizers done to satisfaction and supervision of owner agent or TOTAL 3793 contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side. TAX_ TOTAL CHARGE -DISCOUNT IF PAID IN 30 DAYS

SIGNATURE